SPC 2019 - 2020 SLO Assessment Overall Results by Competency and Outcome

Core Competency	ISLO	SKILLFUL	% Skillful	EMERGING	% Emerging NC	T DEMONSTRATED	% Not Demonstrated	Grand Total	Skillful & Emerging	%
Communication	Comm. Outcome 1	143	31.4%	229	50.2%	84	18.4%	456	372	81.6%
	Comm. Outcome 2	168	36.8%	200	43.9%	88	19.3%	456	368	80.7%
	Comm. Outcome 3: Option 1 - Written	144	31.6%	234	51.4%	77	16.9%	455	378	83.1%
Communication Total		455	33.3%	663	48.5%	249	18.2%	1367	1118	81.8%
Critical Thinking	CT Outcome 1	135	30.0%	209	46.4%	106	23.6%	450	344	76.4%
	CT Outcome 2	141	30.9%	190	41.7%	125	27.4%	456	331	72.6%
	CT Outcome 3	146	32.1%	196	43.1%	113	24.8%	455	342	75.2%
Critical Thinking Total		422	31.0%	595	43.7%	344	25.3%	1361	1017	74.7%
Personal Responsibility	PR Outcome 1	92	45.3%	84	41.4%	27	13.3%	203	176	86.7%
	PR Outcome 2	77	37.9%	85	41.9%	41	20.2%	203	162	79.8%
	PR Outcome 3	84	41.4%	47	23.2%	72	35.5%	203	131	64.5%
Personal Responsibility	Total	253	41.5%	216	35.5%	140	23.0%	609	469	77.0%
Grand Total		1130	33.9%	1474	44.2%	733	22.0%	3337	2604	78.0%

2019-2020 SPC Assessment Results by Department and Outcome

Department	SLO	SKILLFUL	% Skillful	EMERGING	% Emerging	NOT DEMONSTRATED	% Not Demonstrated	Grand Total	S+E :	% S + E
Communications & Learning	Comm. Outcome 1	43	39.4%	50	45.9%	16	14.7%	109	93	85.3%
	Comm. Outcome 2	67	61.5%	29	26.6%	13	11.9%	109	96	88.1%
	Comm. Outcome 3: Option 1 - Written	36	33.0%	60	55.0%	13	11.9%	109	96	88.1%
	CT Outcome 1	60	55.0%	33	30.3%	16	14.7%	109	93	85.3%
	CT Outcome 2	50	45.9%	45	41.3%	14	12.8%	109	95	87.2%
	CT Outcome 3	48	44.0%	45	41.3%	16	14.7%	109	93	85.3%
	PR Outcome 1	71	53.4%	42	31.6%	20	15.0%	133	113	85.0%
	PR Outcome 2	67	50.4%	49	36.8%	17	12.8%	133	116	87.2%
	PR Outcome 3	77	57.9%	34	25.6%	22	16.5%	133	111	83.5%
Communications & Learning Total		519	49.3%	387	36.8%	147	14.0%	1053	906	86.0%
Engineering & Mathematics	Comm. Outcome 1	14	18.4%	40	52.6%	22	28.9%	76	54	71.1%
	Comm. Outcome 2	18	23.7%	26	34.2%	32	42.1%	76	44	57.9%
	Comm. Outcome 3: Option 1 - Written	17	22.4%	38	50.0%	21	27.6%	76	55	72.4%
	CT Outcome 1	21	27.6%		56.6%	12	15.8%	76	64	84.2%
	CT Outcome 2	21	27.6%	27	35.5%	28	36.8%	76	48	63.2%
	CT Outcome 3	17	22.4%							69.7%
Engineering & Mathematics Total		108	23.7%	210	46.1%	138	30.3%	456	318	69.7%
Fine Arts & Kinesiology	Comm. Outcome 1	9	45.0%	11	55.0%		0.0%	20	20	100.0%
	Comm. Outcome 2	8	40.0%	10	50.0%					90.0%
	Comm. Outcome 3: Option 1 - Written	8	40.0%					20	17	85.0%
	CT Outcome 1	12			30.0%	2	10.0%	20		90.0%
	CT Outcome 2	10	50.0%	9	45.0%			20		95.0%
	CT Outcome 3	8	40.0%	10	50.0%	2	10.0%			90.0%
Fine Arts & Kinesiology Total		55	45.8%							91.7%
Natural Sciences	Comm. Outcome 1	40	46.0%	31	35.6%	16			71	81.6%
	Comm. Outcome 2	42	48.3%						74	85.1%
	Comm. Outcome 3: Option 1 - Written	52						86	72	83.7%
	CT Outcome 1	8								50.6%
	CT Outcome 2	34	39.1%						63	72.4%
	CT Outcome 3	50	58.1%				15.1%			84.9%
Natural Sciences Total		226	44.0%							76.7%
Social & Behavioral Sciences	Comm. Outcome 1	37	22.6%						134	81.7%
	Comm. Outcome 2	33								82.9%
	Comm. Outcome 3: Option 1 - Written	31								84.1%
	Comm. Outcome 3: Option 2 - Oral		0.0%		0.0%					0.0%
	CT Outcome 1	34								78.0%
	CT Outcome 2	26								64.6%
	CT Outcome 3	23	14.0%							64.0%
	PR Outcome 1	21								90.0%
	PR Outcome 2	10	14.3%							65.7%
	PR Outcome 3	7								28.6%
Social & Behavioral Sciences Total		222	18.6%						876	73.3%
Grand Total		1130	33.9%	1474	44.2%	734	22.0%	3338	2604	78.0%

Communications and Learning Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	43	39.4%	50	45.9%	16	14.7%	109	93	85.3%
Comm. Outcome 2	67	61.5%	29	26.6%	13	11.9%	109	96	88.1%
Comm. Outcome 3: Option 1 - Written	36	33.0%	60	55.0%	13	11.9%	109	96	88.1%
Communications Total	146	44.6%	139	42.5%	42	12.8%	327	285	87.2%
CT Outcome 1	60	55.0%	33	30.3%	16	14.7%	109	93	85.3%
CT Outcome 2	50	45.9%	45	41.3%	14	12.8%	109	95	87.2%
CT Outcome 3	48	44.0%	45	41.3%	16	14.7%	109	93	85.3%
Critical Thinking Total	158	48.3%	123	37.6%	46	14.1%	327	281	85.9%
PR Outcome 1	58	53.2%	37	33.9%	14	12.8%	109	95	87.2%
PR Outcome 2	54	49.5%	42	38.5%	13	11.9%	109	96	88.1%
PR Outcome 3	62	56.9%	29	26.6%	18	16.5%	109	91	83.5%
Personal Responsibility Total*	174	53.2%	108	33.0%	45	13.8%	327	282	86.2%
Grand Total	478	48.7%	370	37.7%	133	13.6%	981	848	86.4%

^{*}SDEV excluded

Communications and Learning Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	43	39.4%	50	45.9%	16	14.7%	109	93	85.3%
Comm. Outcome 2	67	61.5%	29	26.6%	13	11.9%	109	96	88.1%
Comm. Outcome 3: Option 1 - Written	36	33.0%	60	55.0%	13	11.9%	109	96	88.1%
Communications Total	146	44.6%	139	42.5%	42	12.8%	327	285	87.2%
CT Outcome 1	60	55.0%	33	30.3%	16	14.7%	109	93	85.3%
CT Outcome 2	50	45.9%	45	41.3%	14	12.8%	109	95	87.2%
CT Outcome 3	48	44.0%	45	41.3%	16	14.7%	109	93	85.3%
Critical Thinking Total	158	48.3%	123	37.6%	46	14.1%	327	281	. 85.9%
PR Outcome 1	71	53.4%	42	31.6%	20	15.0%	133	113	85.0%
PR Outcome 2	67	50.4%	49	36.8%	17	12.8%	133	116	87.2%
PR Outcome 3	77	57.9%	34	25.6%	22	16.5%	133	111	. 83.5%
Personal Responsibility Total**	215	53.9%	125	31.3%	59	14.8%	399	340	85.2%
Grand Total	519	49.3%	387	36.8%	147	14.0%	1053	906	86.0%

^{**}Includes SDEV

Engineering and Mathematics Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	14	18.4%	40	52.6%	22	28.9%	76	54	71.1%
Comm. Outcome 2	18	23.7%	26	34.2%	32	42.1%	76	44	57.9%
Comm. Outcome 3: Option 1 - Written	17	22.4%	38	50.0%	21	27.6%	76	55	72.4%
Communications Total	49	21.5%	104	45.6%	75	32.9%	228	153	67.1%
CT Outcome 1	21	27.6%	43	56.6%	12	15.8%	76	64	84.2%
CT Outcome 2	21	27.6%	27	35.5%	28	36.8%	76	48	63.2%
CT Outcome 3	17	22.4%	36	47.4%	23	30.3%	76	53	69.7%
Critical Thinking Total	59	25.9%	106	46.5%	63	27.6%	228	165	72.4%
Grand Total	108	23.7%	210	46.1%	138	30.3%	456	318	69.7%

Fine Arts and Kinesiology Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	9	45.0%	11	55.0%		0.0%	20	20	100.0%
Comm. Outcome 2	8	40.0%	10	50.0%	2	10.0%	20	18	90.0%
Comm. Outcome 3: Option 1 - Written	8	40.0%	9	45.0%	3	15.0%	20	17	85.0%
Communications Total	25	41.7%	30	50.0%	5	8.3%	60	55	91.7%
CT Outcome 1	12	60.0%	6	30.0%	2	10.0%	20	18	90.0%
CT Outcome 2	10	50.0%	9	45.0%	1	5.0%	20	19	95.0%
CT Outcome 3	8	40.0%	10	50.0%	2	10.0%	20	18	90.0%
Critical Thinking Total	30	50.0%	25	41.7%	5	8.3%	60	55	91.7%
Grand Total	55	45.8%	55	45.8%	10	8.3%	120	110	91.7%

Data Source: iRubric and IPRE

02 11 2021 SPC IPRE

Natural Sciences Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	40	46.0%	31	35.6%	16	18.4%	87	71	81.6%
Comm. Outcome 2	42	48.3%	32	36.8%	13	14.9%	87	74	85.1%
Comm. Outcome 3: Option 1 - Written	52	60.5%	20	23.3%	14	16.3%	86	72	83.7%
Communications Total	134	51.5%	83	31.9%	43	16.5%	260	217	83.5%
CT Outcome 1	8	9.9%	33	40.7%	40	49.4%	81	41	50.6%
CT Outcome 2	34	39.1%	29	33.3%	24	27.6%	87	63	72.4%
CT Outcome 3	50	58.1%	23	26.7%	13	15.1%	86	73	84.9%
Critical Thinking Total	92	36.2%	85	33.5%	77	30.3%	254	177	69.7%
Grand Total	226	44.0%	168	32.7%	120	23.3%	514	394	76.7%

Social and Behavioral Sciences Artifact Assessment 2019-2020

SLO	SKILLFUL	Skillful %	EMERGING	Emerging %	NOT DEMONSTRATED	Not Demonstrated %	Grand Total	Skillful + Emerging	S+E %
Comm. Outcome 1	37	22.6%	97	59.1%	30	18.3%	164	134	81.7%
Comm. Outcome 2	33	20.1%	103	62.8%	28	17.1%	164	136	82.9%
Comm. Outcome 3: Option 1 - Written	31	18.9%	107	65.2%	26	15.9%	164	138	84.1%
Communication Total	101	20.5%	307	62.4%	84	17.1%	492	408	82.9%
CT Outcome 1	34	20.7%	94	57.3%	36	22.0%	164	128	78.0%
CT Outcome 2	26	15.9%	80	48.8%	58	35.4%	164	106	64.6%
CT Outcome 3	23	14.0%	82	50.0%	59	36.0%	164	105	64.0%
Critical Thinking Total	83	16.9%	256	52.0%	153	31.1%	492	339	68.9%
PR Outcome 1	21	30.0%	42	60.0%	7	10.0%	70	63	90.0%
PR Outcome 2	10	14.3%	36	51.4%	24	34.3%	70	46	65.7%
PR Outcome 3	7	10.0%	13	18.6%	50	71.4%	70	20	28.6%
Personal Responsibility Total	38	18.1%	91	43.3%	81	38.6%	210	129	61.4%
Grand Total	222	18.6%	654	54.7%	319	26.7%	1195	876	73.3%

2019-2020 SPC Assessment Results by Course and Outcome

Course	SLO	SKILLFUL	% Skillful	EMERGING	% Emerging	NOT DEMONSTRATED	% Not Demonstrated	Grand Total S + E	9	6 S + E
ARTS 1303, Section 11	Comm. Outcome 1	g			55.0%		0.0%	20	20	100.0%
	Comm. Outcome 2	8	40.0%	5 10	50.0%	2	10.0%	20	18	90.0%
	Comm. Outcome 3: Option 1 - Written		40.0%	5 9	45.0%	3	15.0%	20	17	85.0%
	CT Outcome 1	12	60.0%	6	30.0%	2	10.0%	20	18	90.0%
	CT Outcome 2	10	50.0%	5 9	45.0%	1	5.0%	20	19	95.0%
	CT Outcome 3	8	40.0%	10	50.0%	2	10.0%	20	18	90.0%
ARTS 1303, Section 11 Total		55	45.8%	5 55	45.8%	10	8.3%	120	110	91.7%
BIOL 2402, Section 22	Comm. Outcome 1	4	23.5%	8	47.1%	5	29.4%	17	12	70.6%
	Comm. Outcome 2	ϵ	35.3%	8	47.1%	3	17.6%	17	14	82.4%
	Comm. Outcome 3: Option 1 - Written		47.1%	6	35.3%	3	17.6%	17	14	82.4%
	CT Outcome 1	1	7.1%	5 4	28.6%	9	64.3%	14	5	35.7%
	CT Outcome 2	4	23.5%	5 2	11.8%	11	64.7%	17	6	35.3%
	CT Outcome 3	5	31.3%	9	56.3%	2	12.5%	16	14	87.5%
BIOL 2402, Section 22 Total		28	28.6%	37	37.8%	33	33.7%	98	65	66.3%
BIOL 2402, Section 6	Comm. Outcome 1	ϵ	46.2%	5 5	38.5%	2	15.4%	13	11	84.6%
	Comm. Outcome 2	8	61.5%	5 4	30.8%	1	7.7%	13	12	92.3%
	Comm. Outcome 3: Option 1 - Written	10	76.9%	5 2	15.4%	1	7.7%	13	12	92.3%
	CT Outcome 1	1	8.3%	5 4	33.3%	7	58.3%	12	5	41.7%
	CT Outcome 2	E	46.2%	5 5	38.5%	2	15.4%	13	11	84.6%
	CT Outcome 3	10	76.9%	Ď	0.0%	3	23.1%	13	10	76.9%
BIOL 2402, Section 6 Total		41	53.2%	20	26.0%	16	20.8%	77	61	79.2%
BIOL 2404, Section 8	Comm. Outcome 1	18			18.2%		0.0%	22	22	100.0%
	Comm. Outcome 2	14	63.6%			1	4.5%	22	21	95.5%
	Comm. Outcome 3: Option 1 - Written			5 5	22.7%	1	4.5%	22	21	95.5%
	CT Outcome 1	3	13.6%	11	50.0%	8	36.4%	22	14	63.6%
	CT Outcome 2	14	63.6%			2	9.1%	22	20	90.9%
	CT Outcome 3	17		5 5	22.7%		0.0%	22	22	100.0%
BIOL 2404, Section 8 Total		82			28.8%	12	9.1%	132	120	90.9%
BIOL 2416, Section 3	Comm. Outcome 1	5				2	15.4%	13	11	84.6%
	Comm. Outcome 2	5				1	7.7%	13	12	92.3%
	Comm. Outcome 3: Option 1 - Written						0.0%	12	12	100.0%
	CT Outcome 1	2			36.4%	5	45.5%	11	6	54.5%
	CT Outcome 2	2			69.2%	2	15.4%	13	11	84.6%
	CT Outcome 3	10				2	15.4%	13	11	84.6%
BIOL 2416, Section 3 Total		34				12	16.0%	75	63	84.0%
CHEM 1405, Section 3	Comm. Outcome 1	7				7	31.8%	22	15	68.2%
	Comm. Outcome 2	9				7	31.8%	22	15	68.2%
	Comm. Outcome 3: Option 1 - Written					9	40.9%	22	13	59.1%
	CT Outcome 1	1				11	50.0%	22	11	50.0%
	CT Outcome 2	8				7	31.8%	22	15	68.2%
	CT Outcome 3	8			36.4%	6	27.3%	22	16	72.7%
CHEM 1405, Section 3 Total		41			33.3%	47	35.6%	132	85	64.4%
ENGL 1301, Section 325	Comm. Outcome 1	2			40.9%	11	50.0%	22	11	50.0%
	Comm. Outcome 2	1	4.5%	13	59.1%	8	36.4%	22	14	63.6%

	Comm. Outcome 3: Option 1 - Written	3	13.6%	11	50.0%	8	36.4%	22	14	63.6%
	CT Outcome 1	13	59.1%	4	18.2%	5	22.7%	22	17	77.3%
	CT Outcome 2	4	18.2%	10	45.5%	8	36.4%	22	14	63.6%
	CT Outcome 3	2	9.1%	12	54.5%	8	36.4%	22	14	63.6%
	PR Outcome 1	15	68.2%	3	13.6%	4	18.2%	22	18	81.8%
	PR Outcome 2	6	27.3%	9	40.9%	7	31.8%	22	15	68.2%
	PR Outcome 3	11	50.0%	1	4.5%	10	45.5%	22	12	54.5%
ENGL 1301, Section 325 Tota	al	57	28.8%	72	36.4%	69	34.8%	198	129	65.2%
ENGL 1301, Section 39	Comm. Outcome 1	9	56.3%	6	37.5%	1	6.3%	16	15	93.8%
	Comm. Outcome 2	10	62.5%	4	25.0%	2	12.5%	16	14	87.5%
	Comm. Outcome 3: Option 1 - Written	10	62.5%	4	25.0%	2	12.5%	16	14	87.5%
	CT Outcome 1	14	87.5%	1	6.3%	1	6.3%	16	15	93.8%
	CT Outcome 2	12	75.0%	3	18.8%	1	6.3%	16	15	93.8%
	CT Outcome 3	8	50.0%	7	43.8%	1	6.3%	16	15	93.8%
	PR Outcome 1	14	87.5%	1	6.3%	1	6.3%	16	15	93.8%
	PR Outcome 2	11	68.8%	5	31.3%		0.0%	16	16	100.0%
	PR Outcome 3	14	87.5%	2	12.5%		0.0%	16	16	100.0%
ENGL 1301, Section 39 Total		102	70.8%	33	22.9%	9	6.3%	144	135	93.8%
ENGL 1301, Section 492	Comm. Outcome 1	11	39.3%	17	60.7%		0.0%	28	28	100.0%
·	Comm. Outcome 2	26	92.9%	2	7.1%		0.0%	28	28	100.0%
	Comm. Outcome 3: Option 1 - Written	8	28.6%	20	71.4%		0.0%	28	28	100.0%
	CT Outcome 1	10	35.7%	15	53.6%	3	10.7%	28	25	89.3%
	CT Outcome 2	12	42.9%	16	57.1%	-	0.0%	28	28	100.0%
	CT Outcome 3	14	50.0%	14	50.0%		0.0%	28	28	100.0%
	PR Outcome 1	7	25.0%	18	64.3%	3	10.7%	28	25	89.3%
	PR Outcome 2	12	42.9%	16	57.1%	-	0.0%	28	28	100.0%
	PR Outcome 3	12	42.9%	14	50.0%	2	7.1%	28	26	92.9%
ENGL 1301, Section 492 Tota		112	44.4%	132	52.4%	8	3.2%	252	244	96.8%
ENGL 1302, Section 68	Comm. Outcome 1	8	36.4%	10	45.5%	4	18.2%	22	18	81.8%
21102 2002) 0000011 00	Comm. Outcome 2	12	54.5%	7	31.8%	3	13.6%	22	19	86.4%
	Comm. Outcome 3: Option 1 - Written	9	40.9%	10	45.5%	3	13.6%	22	19	86.4%
	CT Outcome 1	10	45.5%	6	27.3%	6	27.3%	22	16	72.7%
	CT Outcome 2	10	45.5%	7	31.8%	5	22.7%	22	17	77.3%
	CT Outcome 3	11	50.0%	6	27.3%	5	22.7%	22	17	77.3%
	PR Outcome 1	11	50.0%	6	27.3%	5	22.7%	22	17	77.3%
	PR Outcome 2	11	50.0%	5	22.7%	6	27.3%	22	16	72.7%
	PR Outcome 3	13	59.1%	6	27.3%	3	13.6%	22	19	86.4%
ENGL 1302, Section 68 Total		95	48.0%	63	31.8%	40	20.2%	198	158	79.8%
GOVT 2305, Section 238	Comm. Outcome 1	1	20.0%	4	80.0%	40	0.0%	5	5	100.0%
GOV1 2303, Section 238	Comm. Outcome 2	2	40.0%	2	40.0%	1	20.0%	5	4	80.0%
		2	40.0%	3	60.0%	1	0.0%	5	5	100.0%
	Comm. Outcome 3: Option 1 - Written CT Outcome 1	1	20.0%	4	80.0%		0.0%	5	5	100.0%
		2						5	5	
	CT Outcome 2	2	40.0%	3	60.0%	2	0.0%			100.0%
	CT Outcome 3	2	0.0%	2	40.0%	3	60.0%	5	2	40.0%
	PR Outcome 1	2	40.0%	1	20.0%	2	40.0%	5	3	60.0%
	PR Outcome 2	1	20.0%	2	40.0%	2	40.0%	5	3	60.0%
	PR Outcome 3	3	60.0%		0.0%	2	40.0%	5	3	60.0%

GOVT 2305, Section 238 Tot	al	14	31.1%	21	46.7%	10	22.2%	45	35	77.8%
GOVT 2306, Section 14	Comm. Outcome 1	2	25.0%	4	50.0%	2	25.0%	8	6	75.0%
	Comm. Outcome 2	2	25.0%	3	37.5%	3	37.5%	8	5	62.5%
	Comm. Outcome 3: Option 1 - Written	2	25.0%	2	25.0%	4	50.0%	8	4	50.0%
	Comm. Outcome 3: Option 2 - Oral		0.0%		0.0%	1	100.0%	1	0	0.0%
	CT Outcome 1	1	12.5%	3	37.5%	4	50.0%	8	4	50.0%
	CT Outcome 2	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
	CT Outcome 3	1	12.5%	2	25.0%	5	62.5%	8	3	37.5%
	PR Outcome 1	2	25.0%	4	50.0%	2	25.0%	8	6	75.0%
	PR Outcome 2	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
	PR Outcome 3	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
GOVT 2306, Section 14 Tota		13	17.8%	21	28.8%	39	53.4%	73	34	46.6%
HIST 1301, Section 142	Comm. Outcome 1	3	23.1%	10	76.9%		0.0%	13	13	100.0%
	Comm. Outcome 2	1	7.7%	12	92.3%		0.0%	13	13	100.0%
	Comm. Outcome 3: Option 1 - Written	2	15.4%	10	76.9%	1	7.7%	13	12	92.3%
	CT Outcome 1	1	7.7%	12	92.3%		0.0%	13	13	100.0%
	CT Outcome 2	1	7.7%	12	92.3%		0.0%	13	13	100.0%
	CT Outcome 3		0.0%	13	100.0%		0.0%	13	13	100.0%
	PR Outcome 1	7	53.8%	5	38.5%	1	7.7%	13	12	92.3%
	PR Outcome 2		0.0%	13	100.0%		0.0%	13	13	100.0%
	PR Outcome 3	1	7.7%	5	38.5%	7	53.8%	13	6	46.2%
HIST 1301, Section 142 Tota	l	16	13.7%	92	78.6%	9	7.7%	117	108	92.3%
HIST 1302, Section 143	Comm. Outcome 1	3	11.1%	20	74.1%	4	14.8%	27	23	85.2%
	Comm. Outcome 2	5	18.5%	21	77.8%	1	3.7%	27	26	96.3%
	Comm. Outcome 3: Option 1 - Written	9	33.3%	16	59.3%	2	7.4%	27	25	92.6%
	CT Outcome 1	3	11.1%	24	88.9%		0.0%	27	27	100.0%
	CT Outcome 2	2	7.4%	23	85.2%	2	7.4%	27	25	92.6%
	CT Outcome 3	1	3.7%	24	88.9%	2	7.4%	27	25	92.6%
	PR Outcome 1	6	22.2%	19	70.4%	2	7.4%	27	25	92.6%
	PR Outcome 2	5	18.5%	15	55.6%	7	25.9%	27	20	74.1%
	PR Outcome 3		0.0%	4	14.8%	23	85.2%	27	4	14.8%
HIST 1302, Section 143 Tota	l	34	14.0%	166	68.3%	43	17.7%	243	200	82.3%
HIST 1302, Section 96	Comm. Outcome 1	4	23.5%	9	52.9%	4	23.5%	17	13	76.5%
	Comm. Outcome 2	5	29.4%	9	52.9%	3	17.6%	17	14	82.4%
	Comm. Outcome 3: Option 1 - Written	2	11.8%	15	88.2%		0.0%	17	17	100.0%
	CT Outcome 1	6	35.3%	7	41.2%	4	23.5%	17	13	76.5%
	CT Outcome 2	6	35.3%	4	23.5%	7	41.2%	17	10	58.8%
	CT Outcome 3	5	29.4%	5	29.4%	7	41.2%	17	10	58.8%
	PR Outcome 1	4	23.5%	13	76.5%		0.0%	17	17	100.0%
	PR Outcome 2	3	17.6%	5	29.4%	9	52.9%	17	8	47.1%
	PR Outcome 3	2	11.8%	3	17.6%	12	70.6%	17	5	29.4%
HIST 1302, Section 96 Total		37	24.2%	70	45.8%	46	30.1%	153	107	69.9%
HUMA 1301, Section 2	Comm. Outcome 1	4	20.0%	9	45.0%	7	35.0%	20	13	65.0%
	Comm. Outcome 2	5	25.0%	8	40.0%	7	35.0%	20	13	65.0%
	Comm. Outcome 3: Option 1 - Written	3	15.0%	10	50.0%	7	35.0%	20	13	65.0%
	CT Outcome 1	4	20.0%	10	50.0%	6	30.0%	20	14	70.0%
	CT Outcome 2	4	20.0%	9	45.0%	7	35.0%	20	13	65.0%

	CT Outcome 3	4	20.0%	9	45.0%	7	35.0%	20	13	65.0%
HUMA 1301, Section 2 Total		24	20.0%	55	45.8%	41	34.2%	120	79	65.8%
MATH 1314, Section 149	Comm. Outcome 1	4	25.0%	8	50.0%	4	25.0%	16	12	75.0%
	Comm. Outcome 2	4	25.0%	6	37.5%	6	37.5%	16	10	62.5%
	Comm. Outcome 3: Option 1 - Written	5	31.3%	8	50.0%	3	18.8%	16	13	81.3%
	CT Outcome 1	4	25.0%	9	56.3%	3	18.8%	16	13	81.3%
	CT Outcome 2	6	37.5%	6	37.5%	4	25.0%	16	12	75.0%
	CT Outcome 3	7	43.8%	7	43.8%	2	12.5%	16	14	87.5%
MATH 1314, Section 149 Tot		30	31.3%	44	45.8%	22	22.9%	96	74	77.1%
MATH 1314, Section 180	Comm. Outcome 1	2	11.1%	13	72.2%	3	16.7%	18	15	83.3%
	Comm. Outcome 2	4	22.2%	10	55.6%	4	22.2%	18	14	77.8%
	Comm. Outcome 3: Option 1 - Written	4	22.2%	12	66.7%	2	11.1%	18	16	88.9%
	CT Outcome 1	6	33.3%	9	50.0%	3	16.7%	18	15	83.3%
	CT Outcome 2	6	33.3%	7	38.9%	5	27.8%	18	13	72.2%
	CT Outcome 3	3	16.7%	13	72.2%	2	11.1%	18	16	88.9%
MATH 1314, Section 180 Tot	al	25	23.1%	64	59.3%	19	17.6%	108	89	82.4%
MATH 1314, Section 74	Comm. Outcome 1	1	14.3%	6	85.7%		0.0%	7	7	100.0%
	Comm. Outcome 2	7	100.0%		0.0%		0.0%	7	7	100.0%
	Comm. Outcome 3: Option 1 - Written	7	100.0%		0.0%		0.0%	7	7	100.0%
	CT Outcome 1	1	14.3%	6	85.7%		0.0%	7	7	100.0%
	CT Outcome 2	5	71.4%	2	28.6%		0.0%	7	7	100.0%
	CT Outcome 3	3	42.9%	4	57.1%		0.0%	7	7	100.0%
MATH 1314, Section 74 Tota	I	24	57.1%	18	42.9%		0.0%	42	42	100.0%
MATH 1314, Section 75	Comm. Outcome 1	5	23.8%	6	28.6%	10	47.6%	21	11	52.4%
	Comm. Outcome 2	3	14.3%	5	23.8%	13	61.9%	21	8	38.1%
	Comm. Outcome 3: Option 1 - Written	1	4.8%	9	42.9%	11	52.4%	21	10	47.6%
	CT Outcome 1	6	28.6%	11	52.4%	4	19.0%	21	17	81.0%
	CT Outcome 2	3	14.3%	6	28.6%	12	57.1%	21	9	42.9%
	CT Outcome 3	2	9.5%	6	28.6%	13	61.9%	21	8	38.1%
MATH 1314, Section 75 Tota	I	20	15.9%	43	34.1%	63	50.0%	126	63	50.0%
MATH 1314, Section 89	Comm. Outcome 1	2	14.3%	7	50.0%	5	35.7%	14	9	64.3%
	Comm. Outcome 2		0.0%	5	35.7%	9	64.3%	14	5	35.7%
	Comm. Outcome 3: Option 1 - Written		0.0%	9	64.3%	5	35.7%	14	9	64.3%
	CT Outcome 1	4	28.6%	8	57.1%	2	14.3%	14	12	85.7%
	CT Outcome 2	1	7.1%	6	42.9%	7	50.0%	14	7	50.0%
	CT Outcome 3	2	14.3%	6	42.9%	6	42.9%	14	8	57.1%
MATH 1314, Section 89 Tota	I	9	10.7%	41	48.8%	34	40.5%	84	50	59.5%
PSYC 2301, Section 104	Comm. Outcome 1	17	50.0%	13	38.2%	4	11.8%	34	30	88.2%
	Comm. Outcome 2	10	29.4%	21	61.8%	3	8.8%	34	31	91.2%
	Comm. Outcome 3: Option 1 - Written	8	23.5%	25	73.5%	1	2.9%	34	33	97.1%
	CT Outcome 1	12	35.3%	21	61.8%	1	2.9%	34	33	97.1%
	CT Outcome 2	8	23.5%	20	58.8%	6	17.6%	34	28	82.4%
	CT Outcome 3	12	35.3%	19	55.9%	3	8.8%	34	31	91.2%
PSYC 2301, Section 104 Total		67	32.8%	119	58.3%	18	8.8%	204	186	91.2%
PSYC 2301, Section 147	Comm. Outcome 1		0.0%	23	74.2%	8	25.8%	31	23	74.2%
, , , , , , , , , , , , , , , , , , , ,	Comm. Outcome 2		0.0%	21	67.7%	10	32.3%	31	21	67.7%
	Comm. Outcome 3: Option 1 - Written		0.0%	20	64.5%	11	35.5%	31	20	64.5%
	III Gattoc J. Option I Witten		0.070	20	5570	**	55.570	71		5 1.570

	CT Outsons 1	2	C F0/	0	20.00/	20	C4 F0/	21	11	25 50/
	CT Outcome 1	2	6.5%	9	29.0%	20	64.5%	31	11	35.5%
	CT Outcome 2		0.0%	5	16.1%	26	83.9%	31	5	16.1%
	CT Outcome 3		0.0%	3	9.7%	28	90.3%	31	3	9.7%
PSYC 2301, Section 147 Total		2	1.1%	81	43.5%	103	55.4%	186	83	44.6%
SDEV 370, Section 114	PR Outcome 1	13	54.2%	5	20.8%	6	25.0%	24	18	75.0%
	PR Outcome 2	13	54.2%	7	29.2%	4	16.7%	24	20	83.3%
	PR Outcome 3	15	62.5%	5	20.8%	4	16.7%	24	20	83.3%
SDEV 370, Section 114 Total		41	56.9%	17	23.6%	14	19.4%	72	58	80.6%
SOCI 1301, Section 68	Comm. Outcome 1	3	33.3%	5	55.6%	1	11.1%	9	8	88.9%
	Comm. Outcome 2	3	33.3%	6	66.7%		0.0%	9	9	100.0%
	Comm. Outcome 3: Option 1 - Written	3	33.3%	6	66.7%		0.0%	9	9	100.0%
	CT Outcome 1	4	44.4%	4	44.4%	1	11.1%	9	8	88.9%
	CT Outcome 2	2	22.2%	3	33.3%	4	44.4%	9	5	55.6%
	CT Outcome 3		0.0%	5	55.6%	4	44.4%	9	5	55.6%
SOCI 1301, Section 68 Total		15	27.8%	29	53.7%	10	18.5%	54	44	81.5%
SPCH 1311, Section 58	Comm. Outcome 1	13	61.9%	8	38.1%		0.0%	21	21	100.0%
	Comm. Outcome 2	18	85.7%	3	14.3%		0.0%	21	21	100.0%
	Comm. Outcome 3: Option 1 - Written	6	28.6%	15	71.4%		0.0%	21	21	100.0%
	CT Outcome 1	13	61.9%	7	33.3%	1	4.8%	21	20	95.2%
	CT Outcome 2	12	57.1%	9	42.9%		0.0%	21	21	100.0%
	CT Outcome 3	13	61.9%	6	28.6%	2	9.5%	21	19	90.5%
	PR Outcome 1	11	52.4%	9	42.9%	1	4.8%	21	20	95.2%
	PR Outcome 2	14	66.7%	7	33.3%		0.0%	21	21	100.0%
	PR Outcome 3	12	57.1%	6	28.6%	3	14.3%	21	18	85.7%
SPCH 1311, Section 58 Total		112	59.3%	70	37.0%	7	3.7%	189	182	96.3%
Grand Total		1130	33.9%	1474	44.2%	734	22.0%	3338	2604	78.0%

2019-2020 SPC Assessment Results by Outcome and Course

Comm. Outcome 1	20 12 11 12 22 11 15 11 15 28 18 5 6 13 23 13 13 12 15	2 70.6% 1 84.6% 2 100.0% 1 84.6% 5 68.2% 1 50.0% 3 100.0% 3 81.8% 5 100.0% 6 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
BIOL 2402, Section 6	11 22 11 15 11 15 28 18 5 6 13 23 13 13 12 15	1 84.6% 2 100.0% 1 84.6% 5 68.2% 1 50.0% 3 100.0% 3 81.8% 5 100.0% 6 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
BIOL 2404, Section 8 18 81.8% 4 18.2% 0.0% 22 BIOL 2416, Section 3 5 38.5% 6 46.2% 2 15.4% 13 CHEM 1405, Section 3 7 31.8% 8 36.4% 7 31.8% 22 ENGL 1301, Section 325 2 9.1% 9 40.9% 11 50.0% 22 ENGL 1301, Section 39 9 56.3% 6 37.5% 1 6.3% 16 ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 238 1 20.0% 4 80.0% 0.0% 5 GOVT 2305, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HUMA 1301, Section 14 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 189 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 180 17 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50.0% 20 50	22 11 15 11 15 28 18 5 6 13 23 13 13 12 15	2 100.0% 1 84.6% 5 68.2% 1 50.0% 5 93.8% 8 100.0% 8 1.8% 5 100.0% 6 75.0% 8 100.0% 8 5.2% 8 3 65.0% 2 75.0% 5 83.3%
BIOL 2416, Section 3	11 15 11 15 28 18 5 6 13 23 13 13 12 15	1 84.6% 5 68.2% 1 50.0% 5 93.8% 8 100.0% 8 1.8% 5 100.0% 6 75.0% 8 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0%
CHEM 1405, Section 3 7 31.8% 8 36.4% 7 31.8% 22 ENGL 1301, Section 325 2 9.1% 9 40.9% 11 50.0% 22 ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 28 1 20.0% 4 80.0% 0.0% 5 GOVT 2306, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 149 1 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 105 13 33.3% 5 55.6% 1 11.1.1% 9 SCOII 301, Section 68 3 33.3% 5 55.6% 1 11.1.1% 9 SCOII 301, Section 68 3 33.3% 5 55.6% 1 11.1.1% 9 SCOII 301, Section 68 3 33.3% 5 55.6% 1 11.1.1% 9 SCOII 301, Section 68 3 33.3% 5 50.0% 2 2 10.0% 20 DOMM DOMM DOMM DOMM DOMM DOMM DOMM DOMM	15 11 15 28 18 5 6 13 23 13 13 12 15	5 68.2% 1 50.0% 5 93.8% 3 100.0% 3 81.8% 5 100.0% 6 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
ENGL 1301, Section 325 2 9.1% 9 40.9% 11 50.0% 22 ENGL 1301, Section 39 9 56.3% 6 37.5% 1 6.3% 16 ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 128 1 20.0% 4 80.0% 0.0% 5 GOVT 2305, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HUMA 1301, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 140 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 147 0.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 168 3 33.3% 5 55.5% 1 11.11 11.1% 9 SPCH 1311, Section 68 3 33.3% 5 55.5% 1 11.11 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 8 40.0% 10 50.0% 20 BIOL 2402, Section 11 8 40.0% 10 50.0% 2 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	11 15 28 18 5 6 13 23 13 13 12 15	1 50.0% 5 93.8% 8 100.0% 8 1.8% 5 100.0% 6 75.0% 8 100.0% 8 15.2% 8 76.5% 8 76.5% 2 75.0% 2 75.0%
ENGL 1301, Section 39 9 56.3% 6 37.5% 1 6.3% 16 ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 128 1 20.0% 4 80.0% 0.0% 5 GOVT 2306, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 149 4 25.0% 8 50.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180	15 28 18 5 6 13 23 13 13 12 15	5 93.8% 3 100.0% 3 81.8% 5 100.0% 5 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
ENGL 1301, Section 492 11 39.3% 17 60.7% 0.0% 28 ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 238 1 20.0% 4 80.0% 0.0% 5 GOVT 2306, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 149 4 25.0% 8 50.0% 7 35.0% 20 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 March 1 1314, Section 180	28 18 5 6 13 23 13 13 12	3 100.0% 3 81.8% 5 100.0% 5 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
ENGL 1302, Section 68 8 36.4% 10 45.5% 4 18.2% 22 GOVT 2305, Section 238 1 20.0% 4 80.0% 0.0% 5 GOVT 2305, Section 142 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 149 4 25.0% 8 50.0% 7 35.0% 20 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MS 200, Sect	18 5 6 13 23 13 13 12	3 81.8% 5 100.0% 5 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
GOVT 2305, Section 238 1 20.0% 4 80.0% 0.0% 5 GOVT 2306, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 143 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 314, Section 89 <t< td=""><td>5 6 13 23 13 13 12</td><td>5 100.0% 5 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%</td></t<>	5 6 13 23 13 13 12	5 100.0% 5 75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
GOVT 2306, Section 14 2 25.0% 4 50.0% 2 25.0% 8 HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 149 4 22.50% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14	6 13 23 13 13 12	75.0% 3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
HIST 1301, Section 142 3 23.1% 10 76.9% 0.0% 13 HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 Comm. Outcome 1 Total 5 50.0% 14 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	13 23 13 13 12 15	3 100.0% 3 85.2% 3 76.5% 3 65.0% 2 75.0% 5 83.3%
HIST 1302, Section 143 3 11.1% 20 74.1% 4 14.8% 27 HIST 1302, Section 96 4 23.5% 9 52.9% 4 23.5% 17 HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 75 5 23.8% 7 50.0% 5 35.7% 14 <	23 13 13 12 15	85.2% 85.2% 76.5% 65.0% 75.0% 83.3%
HIST 1302, Section 96	13 13 12 15	76.5% 3 65.0% 2 75.0% 5 83.3%
HUMA 1301, Section 2 4 20.0% 9 45.0% 7 35.0% 20 MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 <	13 12 15	3 65.0% 2 75.0% 5 83.3%
MATH 1314, Section 149 4 25.0% 8 50.0% 4 25.0% 16 MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 <td>12 15</td> <td>2 75.0% 5 83.3%</td>	12 15	2 75.0% 5 83.3%
MATH 1314, Section 180 2 11.1% 13 72.2% 3 16.7% 18 MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17 <td>15</td> <td>5 83.3%</td>	15	5 83.3%
MATH 1314, Section 74 1 14.3% 6 85.7% 0.0% 7 MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17		
MATH 1314, Section 75 5 23.8% 6 28.6% 10 47.6% 21 MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	7	7 100.0%
MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17		
MATH 1314, Section 89 2 14.3% 7 50.0% 5 35.7% 14 PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	11	1 52.4%
PSYC 2301, Section 104 17 50.0% 13 38.2% 4 11.8% 34 PSYC 2301, Section 147 0.0% 23 74.2% 8 25.8% 31 SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	9	9 64.3%
SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	30	88.2%
SOCI 1301, Section 68 3 33.3% 5 55.6% 1 11.1% 9 SPCH 1311, Section 58 13 61.9% 8 38.1% 0.0% 21 Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	23	3 74.2%
Comm. Outcome 1 Total 143 31.4% 229 50.2% 84 18.4% 456 Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	8	88.9%
Comm. Outcome 2 ARTS 1303, Section 11 8 40.0% 10 50.0% 2 10.0% 20 BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	21	1 100.0%
BIOL 2402, Section 22 6 35.3% 8 47.1% 3 17.6% 17	372	2 81.6%
· · · · · · · · · · · · · · · · · · ·	18	3 90.0%
·	14	1 82.4%
BIOL 2402, Section 6 8 61.5% 4 30.8% 1 7.7% 13	12	92.3%
BIOL 2404, Section 8 14 63.6% 7 31.8% 1 4.5% 22	21	1 95.5%
BIOL 2416, Section 3 5 38.5% 7 53.8% 1 7.7% 13	12	2 92.3%
CHEM 1405, Section 3 9 40.9% 6 27.3% 7 31.8% 22	15	68.2%
ENGL 1301, Section 325 1 4.5% 13 59.1% 8 36.4% 22	14	4 63.6%
ENGL 1301, Section 39 10 62.5% 4 25.0% 2 12.5% 16	14	
ENGL 1301, Section 492 26 92.9% 2 7.1% 0.0% 28	28	3 100.0%
ENGL 1302, Section 68 12 54.5% 7 31.8% 3 13.6% 22	19	86.4%
GOVT 2305, Section 238 2 40.0% 2 40.0% 1 20.0% 5	4	4 80.0%
GOVT 2306, Section 14 2 25.0% 3 37.5% 3 37.5% 8	5	
HIST 1301, Section 142 1 7.7% 12 92.3% 0.0% 13	13	
HIST 1302, Section 143 5 18.5% 21 77.8% 1 3.7% 27	26	
HIST 1302, Section 96 5 29.4% 9 52.9% 3 17.6% 17		
HUMA 1301, Section 2 5 25.0% 8 40.0% 7 35.0% 20	14	
MATH 1314, Section 149 4 25.0% 6 37.5% 6 37.5% 16		
MATH 1314, Section 180 4 22.2% 10 55.6% 4 22.2% 18	14	

MATH 1314, Section 74 7 100.0% 0,0% 0,0% 7 7 7 7 100.0% AMTH 1314, Section 75 3 14.3% 5 23.6% 13 61.9% 21 8 MATH 1314, Section 89 0.0% 5 35.7% 9 64.3% 14 5 5 6 6 6 7 10 10 10 10 10 10 10 10 10 10 10 10 10											
MATH 1314, Section 89 PSYC 2301, Section 147 0,0% 21 61,7% 10 32,3% 31 21 SOCI 3301, Section 147 0,0% 21 67,7% 10 32,3% 31 21 SOCI 3301, Section 68 3 33,3% 6 66,7% 0,0% 21 21 SOCI 3301, Section 68 3 33,3% 6 66,7% 0,0% 21 22 Comm. Outcome 2 Total 0,0% 21 188 85,7% 3 14,3% 0,0% 21 21 SOCI 3301, Section 147 8,00 2,00 43,39% 88 19,3% 456 868 Comm. Outcome 3: Option 1-Written ARTS 1303, Section 11 8 40,0% 9 45,0% 3 15,0% 20 17 BIOL 2402, Section 6 10 76,9% 2 15,4% 1 7,7% 13 12 BIOL 2402, Section 6 10 76,9% 2 15,4% 1 7,7% 13 12 BIOL 2404, Section 3 10 83,3% 2 16,7% 1 45,8% 22 21 BIOL 2404, Section 3 10 83,3% 2 16,7% 1 45,8% 22 21 BIOL 2404, Section 3 10 83,3% 2 16,7% 1 45,8% 22 21 CHEM 1405, Section 32 3 13,6% 11 50,0% 8 36,4% 22 14 ENGL 1301, Section 325 3 13,6% 11 50,0% 8 36,4% 22 14 ENGL 1301, Section 325 3 13,6% 11 50,0% 8 36,4% 22 14 ENGL 1301, Section 492 8 28,5% 20 71,4% 0,0% 12 12 BIOL 2402, Section 6 9 40,9% 10 45,5% 3 13,6% 22 19 GOVT 2305, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 38 2 40,0% 3 60,0% 0,0% 5 5 GOVT 2305, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 38 9 40,9% 10 45,5% 3 13,6% 22 19 GOVT 2305, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 1 77,8% 13 12 BIOL 2403, Section 142 2 15,4% 10 76,9% 1 1 77,8% 13 12 BIOL 2403, Section 143 9 33,3% 1 6 66,7% 1 1 10,0% 1 1 10,											100.0%
PSYC 2301, Section 147		<u> </u>	3								38.1%
PSYC 2301, Section 68		· · · · · · · · · · · · · · · · · · ·									35.7%
SOCI 1301, Section 68 3 3.33.% 6 66.7% 0.0% 9 9 Comm. Outcome 2 Total 168 36.8% 200 43.9% 88 19.3% 456 368 Comm. Outcome 3: Option 1 - Written ARTS 1303, Section 11 8 40.0% 9 45.0% 3 15.0% 20 17 14 BIOL 2402, Section 2 8 47.1% 6 55.3% 3 17.6% 13 11.2 14 BIOL 2402, Section 8 16 72.7% 5 22.7% 1 4.5% 22 21 BIOL 2416, Section 3 10 83.3% 2 16.7% 0.0% 12 12 12 LEAR MARCH MADS, Section 3 8 3.6.4% 5 22.7% 9 40.9% 22 13 ENGL 1301, Section 39 10 62.5% 4 25.0% 2 12.5% 16 14 ENGL 1301, Section 492 8 28.6% 20 17.7% 3 1		·	10								91.2%
SPCH 1311, Section 18		<u> </u>					10				67.7%
Comm. Outcome 2 Total 168 36.8% 200 43.9% 88 19.3% 456 368 Comm. Outcome 3: Option 1 - Written ARTS 1303, Section 11 8 40.0% 9 45.0% 3 15.0% 17 14 BIOL 2402, Section 6 10 76.9% 2 15.4% 1 7.7% 13 12 BIOL 2402, Section 8 16 72.7% 5 22.7% 1 4.5% 22 21 BIOL 2416, Section 3 10 83.3% 2 16.7% 0.0% 12 12 ENGL 1301, Section 39 10 62.5% 4 25.0% 2 12.5% 16 14 ENGL 1302, Section 492 8 28.6% 20 77.4% 0.0% 28 28 GOVT 2305, Section 238 2 40.0% 3 60.0% 0.0% 2 12.5% 4 25.0% 2 12.5% 4 25.0% 2 12.5% 4 25.0% 2 12.5%		·									100.0%
Comm. Outcome 3: Option 1 - Written ARTS 1303, Section 11 8 40.0% 9 45.0% 3 15.0% 20 17 BIOL 2402, Section 6 10 76.9% 2 15.4% 1 1.7% 13 12 BIOL 2402, Section 8 16 72.7% 5 22.7% 1 4.5% 22 21 BIOL 2404, Section 8 16 72.7% 5 22.7% 1 4.5% 22 21 BIOL 2404, Section 3 8 36.4% 5 22.7% 9 40.0% 22 13 ENGL 1301, Section 325 3 13.6% 1 50.0% 8 36.4% 22 13 ENGL 1301, Section 325 3 13.6% 2 17.4% 0.0% 2 22.8 18 ENGL 1302, Section 492 8 28.2% 20 71.4% 0.0% 2 22.9 1 GOVT 2305, Section 238 2 40.0% 3 60.0% 0.0% 0.0% 5		SPCH 1311, Section 58									100.0%
BIOL 2402, Section 22											80.7%
BIOL 2402, Section 6	Comm. Outcome 3: Option 1 - Written										85.0%
BIOL 2404, Section 8		BIOL 2402, Section 22	8								82.4%
BIOL 2416, Section 3		<u> </u>									92.3%
CHEM 1405, Section 3 8 36.4% 5 22.7% 9 40.9% 22 13 ENGL 1301, Section 325 3 13.6% 11 50.0% 8 36.4% 22 14 ENGL 1301, Section 392 8 25.5% 20 71.4% 0.0% 28 28 ENGL 1301, Section 492 8 28.6% 20 71.4% 0.0% 28 28 ENGL 1302, Section 68 9 40.9% 10 45.5% 3 13.6% 22 19 GOVT 2305, Section 14 2 25.0% 2 25.0% 4 50.0% 5 5 GOVT 2305, Section 14 2 25.0% 2 25.0% 4 50.0% 8 4 HIST 1301, Section 142 2 15.4% 10 76.9% 1 7.7% 13 12 HIST 1302, Section 149 9 33.3% 16 59.3% 2 7.4% 27 25.5% 15 14 14 14 14 14 14 14 14 14 14 14 14 14		BIOL 2404, Section 8	16	72.7%	5	22.7%	1	4.5%		21	95.5%
ENGL 1301, Section 325 3 13.6% 11 50.0% 8 36.4% 22 14		BIOL 2416, Section 3								12	100.0%
ENGL 1301, Section 39		CHEM 1405, Section 3	8	36.4%	5	22.7%	9	40.9%	22	13	59.1%
ENGL 1301, Section 492 8 28.6% 20 71.4% 0.0% 28 28 28 ENGL 1302, Section 68 9 40.9% 10 45.5% 3 13.6% 22 19 GOVT 2305, Section 238 2 40.0% 3 60.0% 0.0% 5 5 GOVT 2306, Section 14 2 25.0% 2 25.0% 4 50.0% 8 4 HIST 1301, Section 142 2 15.4% 10 76.9% 1 7.7% 13 12 ENGL 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 HIST 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 HIST 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 HIST 1302, Section 143 9 33.3% 16 59.3% 2 1.4% 10 0.0% 17 17 17 17 17 17 17 17 17 17 17 17 18 18 18 18 18 18 18 18 18 18 18 18 18		ENGL 1301, Section 325	3	13.6%	11	50.0%	8	36.4%	22	14	63.6%
ENGL 1302, Section 68		ENGL 1301, Section 39	10	62.5%	4	25.0%	2	12.5%	16	14	87.5%
GOVT 2305, Section 238 2 40.0% 3 60.0% 0.0% 5 5 5 GOVT 2306, Section 14 2 25.0% 2 25.0% 4 50.0% 8 4 4 41.5		ENGL 1301, Section 492	8	28.6%	20	71.4%		0.0%	28	28	100.0%
GOVT 2306, Section 14 2 25.0% 2 25.0% 4 50.0% 8 4		ENGL 1302, Section 68	9	40.9%	10	45.5%	3	13.6%	22	19	86.4%
HIST 1301, Section 142 2 15.4% 10 76.9% 1 7.7% 13 12 HIST 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 HIST 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 HIST 302, Section 143 9 53.3% 16 59.3% 2 7.4% 27 25 HIST 302, Section 149 15 15.0% 10 50.0% 7 35.0% 17 17 HUMA 1301, Section 2 3 15.0% 10 50.0% 7 35.0% 20 13 MATH 1314, Section 149 5 31.3% 8 50.0% 3 18.8% 16 13 MATH 1314, Section 180 4 22.2% 12 66.7% 2 11.1% 18 16 MATH 1314, Section 180 4 22.2% 12 66.7% 2 11.1% 18 16 MATH 1314, Section 74 7 100.0% 0.0% 0.0% 7 7 MATH 1314, Section 75 1 4.8% 9 42.9% 11 52.4% 21 10 MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 99 MATH 1314, Section 104 8 23.5% 25 73.5% 1 2.9% 34 33 MATH 1314, Section 68 3 33.3% 6 66.7% 0.0% 9 9 COMM. OSCI 1301, Section 168 3 33.3% 6 66.7% 0.0% 9 9 COMM. OUtcome 3: Option 1 - Written Total 5.7% 5.7% 5.7% 5.7% 5.7% 5.7% 5.7% 5.7%		GOVT 2305, Section 238	2	40.0%	3	60.0%		0.0%	5	5	100.0%
HIST 1302, Section 143 9 33.3% 16 59.3% 2 7.4% 27 25 11.8% 15 88.2% 0.0% 17 17 17 17 17 17 17 17 17 17 17 17 17		GOVT 2306, Section 14	2	25.0%	2	25.0%	4	50.0%	8	4	50.0%
HIST 1302, Section 96 2 11.8% 15 88.2% 0.0% 17 17 17 17 14 14 1301, Section 2 3 15.0% 10 50.0% 7 35.0% 20 13 18 18 16 13 18 16 13 18 15 18 18 16 18 18 16 18 18 16 18 18 18 18 18 18 18 18 18 18 18 18 18		HIST 1301, Section 142	2	15.4%	10	76.9%	1	7.7%	13	12	92.3%
HUMA 1301, Section 2 3 15.0% 10 50.0% 7 35.0% 20 13		HIST 1302, Section 143	9	33.3%	16	59.3%	2	7.4%	27	25	92.6%
MATH 1314, Section 149 5 31.3% 8 50.0% 3 18.8% 16 13 MATH 1314, Section 180 4 22.2% 12 66.7% 2 11.1% 18 16 MATH 1314, Section 74 7 100.0% 0.0% 0.0% 0.0% 7 7 MATH 1314, Section 75 1 4.8% 9 42.9% 11 52.4% 21 10 MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 9 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 1301, Section 68 3 33.3% 6 66.7% 1 0.0% 9 9 Comm. Outcome 3: Option 1 - Written Total 14 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral Total <td< td=""><td>HIST 1302, Section 96</td><td>2</td><td>11.8%</td><td>15</td><td>88.2%</td><td></td><td>0.0%</td><td>17</td><td>17</td><td>100.0%</td></td<>		HIST 1302, Section 96	2	11.8%	15	88.2%		0.0%	17	17	100.0%
MATH 1314, Section 180 4 22.2% 12 66.7% 2 11.1% 18 16 MATH 1314, Section 74 7 100.0% 0.0% 0.0% 7 7 MATH 1314, Section 75 1 4.8% 9 42.9% 11 52.4% 21 10 MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 9 PSYC 2301, Section 104 8 23.5% 25 73.5% 1 2.9% 34 33 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 3301, Section 68 3 33.3% 6 66.7% 1 0.0% 9 9 Comm. Outcome 3: Option 1 - Written Total 144 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 1		HUMA 1301, Section 2	3	15.0%	10	50.0%	7	35.0%	20	13	65.0%
MATH 1314, Section 74 7 100.0% 0.0% 0.0% 7 7 MATH 1314, Section 75 1 4.8% 9 42.9% 11 52.4% 21 10 MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 9 PSYC 2301, Section 104 8 23.5% 25 73.5% 1 2.9% 34 33 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 1301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 Comm. Outcome 3: Option 1 - Written Total 144 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 11 12 60.0%<		MATH 1314, Section 149	5	31.3%	8	50.0%	3	18.8%	16	13	81.3%
MATH 1314, Section 75 1 4.8% 9 42.9% 11 52.4% 21 10 MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 9 PSYC 2301, Section 104 8 23.5% 25 73.5% 1 2.9% 34 33 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 1301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 SPCH 1311, Section 58 6 28.6% 15 71.4% 0.0% 21 21 Comm. Outcome 3: Option 1 - Written Total 4 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 00 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 1 100.0% 1 00 CT Outcome 1 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 55 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		MATH 1314, Section 180	4	22.2%	12	66.7%	2	11.1%	18	16	88.9%
MATH 1314, Section 89 0.0% 9 64.3% 5 35.7% 14 9 PSYC 2301, Section 104 8 23.5% 25 73.5% 1 12.9% 34 33 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 1301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 PSYC 2301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 PSYC 2301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 PSYC 2301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 PSYC 2301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 PSYC 2301, Section 58 6 28.6% 15 71.4% 77 16.9% 455 378 Comm. Outcome 3: Option 1 - Written Total 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0% 0.0		MATH 1314, Section 74	7	100.0%		0.0%		0.0%	7	7	100.0%
PSYC 2301, Section 104 8 23.5% 25 73.5% 1 2.9% 34 33 PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20 SOCI 1301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 9 SPCH 1311, Section 58 6 28.6% 15 71.4% 0.0% 21 21 Comm. Outcome 3: Option 1 - Written Total GOVT 2306, Section 14 0.0% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 00 CT Outcome 3: Option 2 - Oral Total 0.0% 0.0% 0.0% 1 100.0% 1 00 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		MATH 1314, Section 75	1	4.8%	9	42.9%	11	52.4%	21	10	47.6%
PSYC 2301, Section 147 0.0% 20 64.5% 11 35.5% 31 20		MATH 1314, Section 89		0.0%	9	64.3%	5	35.7%	14	9	64.3%
SOCI 1301, Section 68 3 33.3% 6 66.7% 0.0% 9 9 SPCH 1311, Section 58 6 28.6% 15 71.4% 0.0% 21 21 Comm. Outcome 3: Option 1 - Written Total 144 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2404, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% <td></td> <td>PSYC 2301, Section 104</td> <td>8</td> <td>23.5%</td> <td>25</td> <td>73.5%</td> <td>1</td> <td>2.9%</td> <td>34</td> <td>33</td> <td>97.1%</td>		PSYC 2301, Section 104	8	23.5%	25	73.5%	1	2.9%	34	33	97.1%
SPCH 1311, Section 58 6 28.6% 15 71.4% 0.0% 21 21 Comm. Outcome 3: Option 1 - Written Total 144 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		PSYC 2301, Section 147		0.0%	20	64.5%	11	35.5%	31	20	64.5%
Comm. Outcome 3: Option 1 - Written Total 144 31.6% 234 51.4% 77 16.9% 455 378 Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		SOCI 1301, Section 68	3	33.3%	6	66.7%		0.0%	9	9	100.0%
Comm. Outcome 3: Option 2 - Oral GOVT 2306, Section 14 0.0% 0.0% 1 100.0% 1 0 Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 0 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		SPCH 1311, Section 58	6	28.6%	15	71.4%		0.0%	21	21	100.0%
Comm. Outcome 3: Option 2 - Oral Total 0.0% 0.0% 1 100.0% 1 00.0% 1 0.0% 1 0.0% 1 0.0% 1 0.0% 1 0.0% 1 0.0% 2 10.0% 2 18 CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14	.come 3: Option 1 - Written Total		144	31.6%	234	51.4%	77	16.9%	455	378	83.1%
CT Outcome 1 ARTS 1303, Section 11 12 60.0% 6 30.0% 2 10.0% 20 18 BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14	.come 3: Option 2 - Oral	GOVT 2306, Section 14		0.0%		0.0%	1	100.0%	1	0	0.0%
BIOL 2402, Section 22 1 7.1% 4 28.6% 9 64.3% 14 5 BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14	.come 3: Option 2 - Oral Total			0.0%		0.0%	1	100.0%	1	0	0.0%
BIOL 2402, Section 6 1 8.3% 4 33.3% 7 58.3% 12 5 BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14	e 1	ARTS 1303, Section 11	12	60.0%	6	30.0%	2	10.0%	20	18	90.0%
BIOL 2404, Section 8 3 13.6% 11 50.0% 8 36.4% 22 14		BIOL 2402, Section 22	1	7.1%	4	28.6%	9	64.3%	14	5	35.7%
		BIOL 2402, Section 6	1	8.3%	4	33.3%	7	58.3%	12	5	41.7%
·		BIOL 2404, Section 8	3	13.6%	11	50.0%	8	36.4%	22	14	63.6%
BIOL 2416, Section 3 2 18.2% 4 36.4% 5 45.5% 11 6		BIOL 2416, Section 3	2	18.2%	4	36.4%	5	45.5%	11	6	54.5%
CHEM 1405, Section 3 1 4.5% 10 45.5% 11 50.0% 22 11		<u> </u>	1	4.5%	10		11		22	11	50.0%
ENGL 1301, Section 325 13 59.1% 4 18.2% 5 22.7% 22 17		· · · · · · · · · · · · · · · · · · ·					5				77.3%
ENGL 1301, Section 39 14 87.5% 1 6.3% 1 6.3% 16 15		<u>`</u>			1		1				93.8%
ENGL 1301, Section 492 10 35.7% 15 53.6% 3 10.7% 28 25		<u> </u>	10	35.7%			3			25	89.3%
ENGL 1302, Section 68 10 45.5% 6 27.3% 6 27.3% 22 16		<u>`</u>									72.7%
GOVT 2305, Section 238 1 20.0% 4 80.0% 0.0% 5 5		·									100.0%

	GOVT 2306, Section 14	1	12.5%	3	37.5%	4	50.0%	8	4	50.0%
	HIST 1301, Section 142	1	7.7%	12	92.3%		0.0%	13	13	100.0%
	HIST 1302, Section 143	3	11.1%	24	88.9%		0.0%	27	27	100.0%
	HIST 1302, Section 96	6	35.3%	7	41.2%	4	23.5%	17	13	76.5%
	HUMA 1301, Section 2	4	20.0%	10	50.0%	6	30.0%	20	14	70.0%
	MATH 1314, Section 149	4	25.0%	9	56.3%	3	18.8%	16	13	81.3%
	MATH 1314, Section 180	6	33.3%	9	50.0%	3	16.7%	18	15	83.3%
	MATH 1314, Section 74	1	14.3%	6	85.7%		0.0%	7	7	100.0%
	MATH 1314, Section 75	6	28.6%	11	52.4%	4	19.0%	21	17	81.0%
	MATH 1314, Section 89	4	28.6%	8	57.1%	2	14.3%	14	12	85.7%
	PSYC 2301, Section 104	12	35.3%	21	61.8%	1	2.9%	34	33	97.1%
	PSYC 2301, Section 147	2	6.5%	9	29.0%	20	64.5%	31	11	35.5%
	SOCI 1301, Section 68	4	44.4%	4	44.4%	1	11.1%	9	8	88.9%
	SPCH 1311, Section 58	13	61.9%	7	33.3%	1	4.8%	21	20	95.2%
CT Outcome 1 Total		135	30.0%	209	46.4%	106	23.6%	450	344	76.4%
CT Outcome 2	ARTS 1303, Section 11	10	50.0%	9	45.0%	1	5.0%	20	19	95.0%
	BIOL 2402, Section 22	4	23.5%	2	11.8%	11	64.7%	17	6	35.3%
	BIOL 2402, Section 6	6	46.2%	5	38.5%	2	15.4%	13	11	84.6%
	BIOL 2404, Section 8	14	63.6%	6	27.3%	2	9.1%	22	20	90.9%
	BIOL 2416, Section 3	2	15.4%	9	69.2%	2	15.4%	13	11	84.6%
	CHEM 1405, Section 3	8	36.4%	7	31.8%	7	31.8%	22	15	68.2%
	ENGL 1301, Section 325	4	18.2%	10	45.5%	8	36.4%	22	14	63.6%
	ENGL 1301, Section 39	12	75.0%	3	18.8%	1	6.3%	16	15	93.8%
	ENGL 1301, Section 492	12	42.9%	16	57.1%	<u> </u>	0.0%	28	28	100.0%
	ENGL 1302, Section 68	10	45.5%	7	31.8%	5	22.7%	22	17	77.3%
	GOVT 2305, Section 238	2	40.0%	3	60.0%	<u> </u>	0.0%	5	5	100.0%
	GOVT 2305, Section 238	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
	HIST 1301, Section 142	1	7.7%	12	92.3%	0	0.0%	13	13	100.0%
	HIST 1301, Section 142	2	7.7%	23	85.2%	2	7.4%	27	25	92.6%
	HIST 1302, Section 143	6	35.3%	4	23.5%	7	41.2%	17	10	58.8%
	HUMA 1301, Section 2	4	20.0%	9	45.0%	7	35.0%	20	13	65.0%
	·	6	37.5%	6	37.5%	4	25.0%	16	12	75.0%
	MATH 1314, Section 149	6	33.3%	7	38.9%	5		18	13	73.0%
	MATH 1314, Section 180					3	27.8%			
	MATH 1314, Section 74	5	71.4%	2	28.6%	42	0.0%	7	7	100.0%
	MATH 1314, Section 75	3	14.3%	6	28.6%	12	57.1%	21	9	42.9%
	MATH 1314, Section 89	1	7.1%	6	42.9%	7	50.0%	14	7	50.0%
	PSYC 2301, Section 104	8	23.5%	20	58.8%	6	17.6%	34	28	82.4%
	PSYC 2301, Section 147		0.0%	5	16.1%	26	83.9%	31	5	16.1%
	SOCI 1301, Section 68	2	22.2%	3	33.3%	4	44.4%	9	5	55.6%
	SPCH 1311, Section 58	12	57.1%	9	42.9%		0.0%	21	21	100.0%
CT Outcome 2 Total	ADTO 4522 2 11 41	141	30.9%	190	41.7%	125	27.4%	456	331	72.6%
CT Outcome 3	ARTS 1303, Section 11	8	40.0%	10	50.0%	2	10.0%	20	18	90.0%
	BIOL 2402, Section 22	5	31.3%	9	56.3%	2	12.5%	16	14	87.5%
	BIOL 2402, Section 6	10	76.9%		0.0%	3	23.1%	13	10	76.9%
	BIOL 2404, Section 8	17	77.3%	5	22.7%		0.0%	22	22	100.0%
	BIOL 2416, Section 3	10	76.9%	1	7.7%	2	15.4%	13	11	84.6%
	CHEM 1405, Section 3	8	36.4%	8	36.4%	6	27.3%	22	16	72.7%

	ENGL 1301, Section 325	2	9.1%	12	54.5%	8	36.4%	22	14	63.6%
	ENGL 1301, Section 39	8	50.0%	7	43.8%	1	6.3%	16	15	93.8%
	ENGL 1301, Section 492	14	50.0%	14	50.0%		0.0%	28	28	100.0%
	ENGL 1302, Section 68	11	50.0%	6	27.3%	5	22.7%	22	17	77.3%
	GOVT 2305, Section 238		0.0%	2	40.0%	3	60.0%	5	2	40.0%
	GOVT 2306, Section 14	1	12.5%	2	25.0%	5	62.5%	8	3	37.5%
	HIST 1301, Section 142		0.0%	13	100.0%		0.0%	13	13	100.0%
	HIST 1302, Section 143	1	3.7%	24	88.9%	2	7.4%	27	25	92.6%
	HIST 1302, Section 96	5	29.4%	5	29.4%	7	41.2%	17	10	58.8%
	HUMA 1301, Section 2	4	20.0%	9	45.0%	7	35.0%	20	13	65.0%
	MATH 1314, Section 149	7	43.8%	7	43.8%	2	12.5%	16	14	87.5%
	MATH 1314, Section 180	3	16.7%	13	72.2%	2	11.1%	18	16	88.9%
	MATH 1314, Section 74	3	42.9%	4	57.1%		0.0%	7	7	100.0%
	MATH 1314, Section 75	2	9.5%	6	28.6%	13	61.9%	21	8	38.1%
	MATH 1314, Section 89	2	14.3%	6	42.9%	6	42.9%	14	8	57.1%
	PSYC 2301, Section 104	12	35.3%	19	55.9%	3	8.8%	34	31	91.2%
	PSYC 2301, Section 147		0.0%	3	9.7%	28	90.3%	31	3	9.7%
	SOCI 1301, Section 68		0.0%	5	55.6%	4	44.4%	9	5	55.6%
	SPCH 1311, Section 58	13	61.9%	6	28.6%	2	9.5%	21	19	90.5%
CT Outcome 3 Total		146	32.1%	196	43.1%	113	24.8%	455	342	75.2%
PR Outcome 1	ENGL 1301, Section 325	15	68.2%	3	13.6%	4	18.2%	22	18	81.8%
	ENGL 1301, Section 39	14	87.5%	1	6.3%	1	6.3%	16	15	93.8%
	ENGL 1301, Section 492	7	25.0%	18	64.3%	3	10.7%	28	25	89.3%
	ENGL 1302, Section 68	11	50.0%	6	27.3%	5	22.7%	22	17	77.3%
	GOVT 2305, Section 238	2	40.0%	1	20.0%	2	40.0%	5	3	60.0%
	GOVT 2306, Section 14	2	25.0%	4	50.0%	2	25.0%	8	6	75.0%
	HIST 1301, Section 142	7	53.8%	5	38.5%	1	7.7%	13	12	92.3%
	HIST 1302, Section 143	6	22.2%	19	70.4%	2	7.4%	27	25	92.6%
	HIST 1302, Section 96	4	23.5%	13	76.5%		0.0%	17	17	100.0%
	SDEV 370, Section 114	13	54.2%	5	20.8%	6	25.0%	24	18	75.0%
	SPCH 1311, Section 58	11	52.4%	9	42.9%	1	4.8%	21	20	95.2%
PR Outcome 1 Total	·	92	45.3%	84	41.4%	27	13.3%	203	176	86.7%
PR Outcome 2	ENGL 1301, Section 325	6	27.3%	9	40.9%	7	31.8%	22	15	68.2%
	ENGL 1301, Section 39	11	68.8%	5	31.3%		0.0%	16	16	100.0%
	ENGL 1301, Section 492	12	42.9%	16	57.1%		0.0%	28	28	100.0%
	ENGL 1302, Section 68	11	50.0%	5	22.7%	6	27.3%	22	16	72.7%
	GOVT 2305, Section 238	1	20.0%	2	40.0%	2	40.0%	5	3	60.0%
	GOVT 2306, Section 14	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
	HIST 1301, Section 142		0.0%	13	100.0%		0.0%	13	13	100.0%
	HIST 1302, Section 143	5	18.5%	15	55.6%	7	25.9%	27	20	74.1%
	HIST 1302, Section 96	3	17.6%	5	29.4%	9	52.9%	17	8	47.1%
	SDEV 370, Section 114	13	54.2%	7	29.2%	4	16.7%	24	20	83.3%
	SPCH 1311, Section 58	14	66.7%	7	33.3%		0.0%	21	21	100.0%
PR Outcome 2 Total	, , , , , , , ,	77	37.9%	85	41.9%	41	20.2%	203	162	79.8%
PR Outcome 3	ENGL 1301, Section 325	11	50.0%	1	4.5%	10	45.5%	22	12	54.5%
	ENGL 1301, Section 39	14	87.5%	2	12.5%		0.0%	16	16	100.0%
	ENGL 1301, Section 492	12	42.9%	14	50.0%	2	7.1%	28	26	92.9%
	21102 1001, 0000011 402		12.570		30.070	-	7.1.70			32.370

	ENGL 1302, Section 68	13	59.1%	6	27.3%	3	13.6%	22	19	86.4%
	GOVT 2305, Section 238	3	60.0%		0.0%	2	40.0%	5	3	60.0%
	GOVT 2306, Section 14	1	12.5%	1	12.5%	6	75.0%	8	2	25.0%
	HIST 1301, Section 142	1	7.7%	5	38.5%	7	53.8%	13	6	46.2%
	HIST 1302, Section 143		0.0%	4	14.8%	23	85.2%	27	4	14.8%
	HIST 1302, Section 96	2	11.8%	3	17.6%	12	70.6%	17	5	29.4%
	SDEV 370, Section 114	15	62.5%	5	20.8%	4	16.7%	24	20	83.3%
	SPCH 1311, Section 58	12	57.1%	6	28.6%	3	14.3%	21	18	85.7%
PR Outcome 3 Total		84	41.4%	47	23.2%	72	35.5%	203	131	64.5%
Grand Total		1130	33.9%	1474	44.2%	734	22.0%	3338	2604	78.0%